TRIG-STAR PROBLEM LOCAL CONTEST

You must Q’iqu’ and show work {or Yhe H valves. Fortne rest, make

¢ ff)@&}(}j q%{empﬁj‘ and Show ewndence of wark

THE OWNER OF LOT 1, SHOWN AS FIGURE ABCD WOULD LIKE TO CONSTRUCT A
FENCE AROUND THE PROPERTY FOR PRIVACY. A SURVEYCOR HAS BEEN HIRED TO FIND

OR SET THE BOUNDARY CORNERS.
SURVEY MONUMENTS WERE FOUND AT POINTS A, B AND C, BUT THE MONUMENT
AT POINT D HAS BEEN DESTROYED. THE SURVEYOR FOUND A MONUMENT AT POINT E

AND HAS DETERMINED FROM PREVICUS RECORDS THAT POINT D SHCULD BE PLACED ON
A STRAIGHT LINE BETWEEN POINTS C AND E. 1T HAS ALSO BEEN DETERMINED THAT

THE LINE AD IS PARALLEL WiITH LINE BC.
THE SURVEYOR HAS OBTAINED THE ANGLES AND DISTANCES AS SHOWN BELCW.
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FIND: o DISTANCE BC = (10 POINTS)
REQUIRED ANSWER FORMAT
DISTANCES: NEAREST HUNDREDTH DISTANCE CD = (?O ?O?NTS)
DISTANCE DF = (10 POINTS)
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TRIG-STAR PROBLEM LOCAL CONTEST

A RAILRCAD COMPANY WOULD LIKE TG BUILD: AQNEWEf
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FIND: k- DISTANCE AB = (7 POINTS)
DISTANCE BC = (7 POINTS)

REQGUIRED ANSWER FORMAT
DISTANCES: NEAREST HUNDREDTH DISTANCE CD = (7 POINTS)
ARC DISTANCE CE = (3 POINTS)
PAGE TOTAL: POINTS
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TRIG-STAR PROBLEM LOCAL CONTEST

A FATHER HAS DIVIDED A TRACT OF LAND AS SHOWN BY FIGURE A, B, C, [, AND
ARC DA INTC LOTS FOR HIS THREE CHILDREN. THE TIME HAS COME FOR THE CHiILOREN
TO DETERMINE WHO GETS WHICH LOT. THEY DECIDE TO DRAW FROM A DECK OF CARDS
FOR FIRST AND SECOND CHOWE. THE CHILDREN WOULD LIKE MORE INFORMATION
BEFORE THEY MAKE THEIR CHOICES.
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FIND:
% DISTANCE BC = {5 POINTS)
| DISTANCE 8C = (5 POINTS)
REQUIRED ANSWER FORMAT DISTANCE GH = (5 POINTS)
EEEQNCE\ISE:AR&:?RVE—%LEH&EIJSI[T)“REDTH 4 ARC DISTANCE AD = (5 POINTS)
AREA LOT t = B/C,GB = (5 POINTS)
AREA LOT 3 = AHGD, ARC DA = (5 POINTS)
PAGE TOTAL: ____  PONNTS
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TRIG—STAR PROBLEM 3 LOCAL CONTEST

REQUIRED ANSWER FORMATL
DISTANCES: NEAREST HUNDREDTH
AREAS: NEAREST WHOLE UNIT

PARCEL ABCD

THE NORTH SIDE OF PARCEL ABCD IS BOUNDED gY A LOCAL HIGHWAY. DUE TO A
NEW HICHWAY ALIGNMENT, THE NORTH SIDE OF PARCEL ABCD IS TO BE ROUNDED OUT
WiTH A CIRCULAR ARC AE. THE RADIUS OF THE ARC IS 500.00 AND IS TANGENT T0
LINE AB AT POINT A. FIND THE NEW BOUNDARY DIMENSIONS OF PARCEL ABCD, SUCH
AS THE ARC LENGTH OF AE AND THE LENGTH OF LINE CE.

KINOWN:

AR = 300.00, BC = 412.31, CD = 200.00, DA = 400.00,
SO0 = 104°=02'—10", LCDA & /DAR = 90°-00"-007,

& RADIUS OF ARC AR = 500.00

FIND:

ARC LENGTH AE {6 Points) ¥ AREA ABCD ___.______ (6 Points)
LENGTH BC _ . (B Foints) AREA AECD __ . (6 Points)
{ENGTH BE o (6 Points)

Page Total: _______ Points
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BC.

DISTANCE AB = 124.42 DISTANCE FA = 75.66

(LI

DISTANCE FD = 80.59 DISTANCE FE = 146,68

£ DISTANCE DA = (6 POINTS)
DISTANCE FC = (6 POINTS)
DISTANCE OC = (6 POINTS)
ANGLE BFC = (8 POINTS)
AREA ABCD = (6 POINTS)

TRIG-STAR PROBLEM LOCAL CONTEST

THE OWNER OF LOT 109, SHOWN AS FIGURE ABCD, WANTS TO OBTAIN A BUILDING PERMIT, AND
HIRES A LAND SURVEYOR TO COMPLETE A BOUNDARY SURVEY.

THE SURVEYOR FINDS EXISTING MONUMENTS AT POINTS A, B, AND D, AND NEEDS TO REESTABLISH
POINT C. TREES CBSTRUCT THE VIEW ALONG LOT LINES AS SHOWN, SO THE SURVEYOR SETS A
CONTROL POINT AT POINT £ FROM WHICH ALL FOUR LOT CORNER LOCATIONS CAN BE SEEN. THE
SURVEYOR ALSO FINDS A MONUMENT AT POINT E, AND NOTES THAT POINT ¢ WOULD BE ON A
STRAIGHT LINE CONNECTING POINTS D AND E. IT IS ALSO NOTED THAT LINE AD IS PARALLEL TO LINE

THE SURVEYOR'S MEASURED ANGLES AND DISTANCES ARE SHOWN BELOW.

REQUIRED ANSWER FORMAT

DISTANCES: NEAREST HUNDREDTH
AREA: NEAREST WHOLE UNIT
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